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0401
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0.35 -~ Narrow line
0.30 -—-Broad line
—-OrthoPs
0.25 -----Power law

020 = SPI 2004 public data
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480 490 500 510 520 530
E (keV)
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000 (Knodlseder et al. 2006, A&A, 445, 579).
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(Ghez et al. 2005, ApJ, 620, 744)
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19870000000 Katz O ”High Energy Astrophysics” 000000
000000000000000DDO0O“Unfortunately, Eq.1 and Eq.2 are
not supported by any data. There are few astronomical objects in which
the continuum radiation from an accretion disk can be unambiguously
identified.” (0OO0Eq.10 Eq2000000000000000OO
000000000000 000)00000000O0D0UooOoOoo
00o0oo0O0oooooooooooooo

1987000191 000000000000XO00000D0o0o0oo0oon
LMC X-3, GS2000+25, GS1124-680 000000000000 O ”High
State” 00000000000 ODOOOOOODODOODOOOOODOO
000000O0()0ooooO000D0oOODO0OoDoDUoOoOoODOoOO
00000000000 (DobooooU0b 4000000000000
0)0(2) (000000000000 O0O0O0OOOOOOODO)00O00
goooboooOoobOOoooOOobo30booboooOooboogooobog
O000ooo0ooooooo000oooooooooooooooon
00000 (041)0000000O00D0O0O0O0O0OOO High State” 0O
0oo0oooobOoooooooooboOoooobooo30oooa
o0o0oo0oooooooooooooooooooon

19940000000 Longair, “High Energy Astrophysics” second edi-
tionO0O0MOOO0OOO0OO0OD0LMCX-300000000000 “This
is a remarkable result, but it is clearly dependent upon a number of
assumptions, particularly that the accretion disk is optically thick.” [
0000000000000 00000000000000000000
d00bOo0o0o0ooooooooooDooOOoboooo@mooooono
000000000ooooooooooooooon
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Figure 16.22. Time histories of the best-fit parameters to the soft component of the X-ray
spectrum of LMC X-3 obtained by the Japanese Ginga satellite. (a) The bolometric
luminosity of the sources: (b) the inferred temperature at the inner radius of the
acceretion disc; (c) the inferred inner radius, ry, of the accretion disc. i is the inclination
angle of the plane of the orbit to the plane of the sky. (From H. Inoue (1992). Proc.
Texas/ESO-CERN Symposium on Relativistic astrophysics, cosmology and fimdamental

particles, eds J.D. Barrow, L. Mestel and P.A. Thomas, pp. 86-103. New York: New
York Academy of Sciences.)
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0 O O Longair, “High Energy Astrophysics” 00000000 0O00O0O
Inoue (1992) 00 000000000O0O0O0OOOOOO (19910)000
000000000 Ebisawa et al. 1993, ApJ, 403, 6840
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